Bid Comparison

Contract ID: 2300558

Description: Sanitary Sewer Replacement

Location:

Fenton Road Charter Township of Grand Blanc

Projects(s):

2300558

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$2,881,875.00	-15.23%	0.00%
1	(02985) Zito Construction	\$3,399,752.50	0.00%	17.97%

Line Pay Item Code Conscription	Quantity Units	(0) ENGINEER'S E	ESTIMATE Total	(1) Zito Construction Bid Price	Total	Bid Price	Total
0001 155001 Maintaining Traffic	1 LSUM	\$50,000.00	\$50,000.00	\$112,000.00	\$112,000.00		\$0.00
0002 171001 Mobilization	1 LSUM	\$250,000.00	\$250,000.00	\$235,000.00	\$235,000.00		\$0.00
0003 174001 Cleanup and Restoration	1 LSUM	\$50,000.00	\$50,000.00	\$29,800.00	\$29,800.00		\$0.00
0004 221001 Audio-Video Construction Area Survey	1 LSUM	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00		\$0.00
0005 241005 Pavt, Rem	1,657 Syd	\$15.00	\$24,855.00	\$14.00	\$23,198.00		\$0.00

Contract # 2300558 (Fenton Road Charter Township of Grand Blanc)

MERL: 2023.5.0

Line Pay Item Code	Quantity U	Jnits	(0) ENGINEER'S E		(1) Zito Construction			
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0006 3110002	1 L	SUM	\$20,000.00	\$20,000.00	\$28,000.00	\$28,000.00		\$0.00
Clearing								
0007 3123002	1 L	SUM	\$50,000.00	\$50,000.00	\$48,000.00	\$48,000.00		\$0.00
Dewatering								
0008 3123703	225	Cyd	\$100.00	\$22,500.00	\$119.00	\$26,775.00		\$0.00
Trench Undercut and Backfill								
0009 3125001	1 L	SUM	\$35,000.00	\$35,000.00	\$5,000.00	\$5,000.00		\$0.00
Soil Erosion and Sedimentation Cor	ntrol							
0010 3212001	2,625	Syd	\$6.00	\$15,750.00	\$6.00	\$15,750.00		\$0.00
Cold Milling HMA Surface								
0011 3212007	500	Syd	\$40.00	\$20,000.00	\$85.00	\$42,500.00		\$0.00
Driveway, HMA								
0012 3212008	1,175	Syd	\$80.00	\$94,000.00	\$125.00	\$146,875.00		\$0.00
Pavt Repr, HMA								
0013 3212020	2,625	Syd	\$15.00	\$39,375.00	\$14.00	\$36,750.00		\$0.00
HMA Pavt								
0014 3213045	775	Ft	\$50.00	\$38,750.00	\$54.00	\$41,850.00		\$0.00
Curb and Gutter, Conc, Replacement	nt							
0015 3215007	1,315	Syd	\$15.00	\$19,725.00	\$17.50	\$23,012.50		\$0.00
Aggregate Surface Cse, 6 inch								
0016 3217001	1 L	SUM	\$2,000.00	\$2,000.00	\$4,000.00	\$4,000.00		\$0.00
Pavement Markings								
0017 3292001	1 L	SUM	\$50,000.00	\$50,000.00	\$57,500.00	\$57,500.00		\$0.00
Turf Establishment								
0018 3301001	1 L	SUM	\$100,000.00	\$100,000.00	\$150,000.00	\$150,000.00		\$0.00
Bypass Pumping								
0019 3305040	3	Ea	\$1,000.00	\$3,000.00	\$950.00	\$2,850.00		\$0.00
Dr Structure Cover, Adj, Case 1								
0020 3305041	1	Ea	\$750.00	\$750.00	\$590.00	\$590.00		\$0.00
Dr Structure Cover, Adj, Case 2								
0021 3331001	2,597	Ft	\$40.00	\$103,880.00	\$18.00	\$46,746.00		\$0.00
Sanitary Sewer, Rem								

Contract # 2300558 (Fenton Road Charter Township of Grand Blanc) MERL: 2023.5.0

3/6/2024 12:22:25 PM

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S		(1) Zito Construction		Did Date	Tatal
Description 0022 3331005		LSUM	Bid Price	Total	Bid Price	Total	Bid Price	Total
Sanitary Sewer, Abandon	1	LSUM	\$4,000.00	\$4,000.00	\$8,000.00	\$8,000.00		\$0.00
0023 3331010	8	Ea	\$1,500.00	\$12,000.00	\$1,200.00	\$9,600.00		\$0.00
Sanitary Sewer Manhole, Rem	O .	La	ψ1,300.00	Ψ12,000.00	ψ1,200.00	ψ3,000.00		Ψ0.00
0024 3331016	13	Ea	\$12,500.00	\$162,500.00	\$12,500.00	\$162,500.00		\$0.00
Sanitary Sewer Manhole, 60 inch dia	ì		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , , , , , , , , , , , , , , , ,	, ,	, , , , , , , , , , , ,		,
0025 3331017	1	Ea	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00		\$0.00
Sanitary Sewer Manhole, 72 inch dia	a			·				
0026 3331040	1	Ea	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00		\$0.00
Sanitary Sewer Manhole, Tap, 21 inc	ch							
0027 3331058	1	Ea	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00		\$0.00
Sanitary Sewer Tap, 36 inch								
0028 3331437	2,716	Ft	\$400.00	\$1,086,400.00	\$562.00	\$1,526,392.00		\$0.00
Sanitary Sewer, RCP CI IV, 21 inch,	Tr Det B							
0029 3331438	120	Ft	\$2,500.00	\$300,000.00	\$1,825.00	\$219,000.00		\$0.00
Sanitary Sewer, RCP CI IV, 21 inch,	Bored and Ja							
0030 3331701	156	Ft	\$110.00	\$17,160.00	\$310.00	\$48,360.00		\$0.00
Sanitary Sewer Lead, 6 inch, Tr Det								
0031 3331756	1	Ea	\$20,000.00	\$20,000.00	\$50,000.00	\$50,000.00		\$0.00
Sanitary Sewer, External Drop Conn			4500.00	45 500 00	4050.00	40.750.00		
0032 3342001 Culv, Rem, Less than 24 inch	11	Ea	\$500.00	\$5,500.00	\$250.00	\$2,750.00		\$0.00
	261	Ft	¢60.00	\$4F 660 00	Ф07 00	¢22.707.00		¢0.00
0033 3342350 Culv, CSP, 12 inch	201	Γl	\$60.00	\$15,660.00	\$87.00	\$22,707.00		\$0.00
0034 3342352	272	Ft	\$70.00	\$19,040.00	\$95.00	\$25,840.00		\$0.00
Culv, CSP, 18 inch	212		Ψ7 0.00	Ψ13,040.00	ψ33.00	Ψ25,040.00		Ψ0.00
0035 3342700	2	Ea	\$1,000.00	\$2,000.00	\$400.00	\$800.00		\$0.00
Culv End Sect, Salv	_		ψ1,000.00	Ψ2,000.00	Ψ100.00	Ψοσο.σο		ψ0.00
0036 3344002	9	Ea	\$800.00	\$7,200.00	\$390.00	\$3,510.00		\$0.00
Dr Structure, Rem	_		, , , , , ,	. ,	,	. ,		,
0037 3344005	470	Ft	\$30.00	\$14,100.00	\$25.00	\$11,750.00		\$0.00
Storm Sewer, Rem, Less than 24 inc	:h							

Contract # 2300558 (Fenton Road Charter Township of Grand Blanc) MERL: 2023.5.0

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S E	ESTIMATE	(1) Zito Construction	1		
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0038 3344006	313	Ft	\$50.00	\$15,650.00	\$30.00	\$9,390.00		\$0.00
Storm Sewer, Rem, 24 inch to 48 inch	า							
0039 3344351	335	Ft	\$85.00	\$28,475.00	\$108.00	\$36,180.00		\$0.00
Storm Sewer, RCP CI IV, 12 inch, Tr I	Det B							
0040 3344354	42	Ft	\$95.00	\$3,990.00	\$95.00	\$3,990.00		\$0.00
Storm Sewer, RCP CI IV, 15 inch, Tr I	Det B							
0041 3344357	93	Ft	\$105.00	\$9,765.00	\$185.00	\$17,205.00		\$0.00
Storm Sewer, RCP CI IV, 18 inch, Tr I	Det B							
0042 3344359	193	Ft	\$200.00	\$38,600.00	\$154.00	\$29,722.00		\$0.00
Storm Sewer, RCP CI IV, 24 inch, Tr I	Det A							
0043 3344360	120	Ft	\$250.00	\$30,000.00	\$168.00	\$20,160.00		\$0.00
Storm Sewer, RCP CI IV, 24 inch, Tr I	Det B							
0044 3344501	9	Ea	\$3,500.00	\$31,500.00	\$3,800.00	\$34,200.00		\$0.00
Dr Structure, 48 inch dia								
0045 3344710	5	Ea	\$750.00	\$3,750.00	\$1,500.00	\$7,500.00		\$0.00
Sump Pump Lead and Drain Tile Con	nection							
0046 3344716	1	LSUM	\$30,000.00	\$30,000.00	\$20,000.00	\$20,000.00		\$0.00
Stormwater Bypass System								
0047 3441001	1	LSUM	\$3,000.00	\$3,000.00	\$1,500.00	\$1,500.00		\$0.00
Permanent Traffic Signs								
Bid Totals:				\$2,881,875.00	\$	3,399,752.50		